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Ü
b

ung
druc

ken

0���
�
����


�
���

�
������



��� �������
��

	 ��
����

������
����

�	 
�
���
��������

�
- ��������

8
����� �
�	 ��

���	 �
��


�����
�A

8�:
���	 �
��
��

�������
�	

3.2
P

rogram
m

be
sc

hreib
ung

S
tart

�


���	 �
���
��������������������
�
����

���

�� 
�
-)��	 ��
� 4
�����
�����������
���
�	 
����

��� $

	 �
��
�
���
�
���(���������C
- ������9 
����
/
- � $

���
&� C
- ����������
���	 �
��

�
��;	 �

�
�����

N
am

ense
ingab

e

%
�����
��
���
������
����� ��
�
��
�����
%
 $

����
��
�����
/�


�
	 ���
	 ��B
��	 
����
���
���	 ��


�

&0�������
����� ��
����	 ��

��
���
��������B
�� $




� 
�������

��������
��
����� ��������
��
���
�����

����
�����	 �� ��	 ���
/������

�
��

�� ��� ��
������� $

	 ����%
��� �

���������	 �� ��	 ��
�
��� ����
+��� $

 ������� �

�
��
��
�	 
��
��� ��
�����

������
�	 ���

�
�
���
���
� ����	 �
��%
���
��
��B
��	 
��
��*�����

�



���
��
,
�- �����

�����
� ������	 ����
����������
�	

 ��	 �F
�B�

��
0����F��
��
 ����

�
3

�������
�������

�
3��
���������
�����

��������0����
������
����

�B
��	 
�� ����

�
+�� ��
0����F	 
� �����
���
%
�� ��
/��������



�����:
�

8
����� �
�	 ��

���	 �
��


8�8��� ��


3.3
M

en
üs
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